th-& 3ol A ZAZFE ABCD 9] A A oA
24 BD 74 o] A9

@ 18 @ 36 ® = @ —

12

Q



@ 63

|-



E]—.Q :]_ajq- 71’0] /B = 60° o‘l_]—_,"

o] Zo]7t 4cm 91 FHEE ABCD 9] %
=7

e

_]

ar

@ 4v2cm? @ 8v2cm?
® 16 V2 cm? @ 4+/3cm?
® 843 cm?



oS 1" A AABC, AEAC, AEDC
L& AZ4ztgolal, AB = BC =
(AEC = 60°, /CED = 45° ¢ d, x
e

@ 2 @ 23 ® 4
@ 32 ® 26




@ 83

® 84

B 85

@ 86

A A(-2, 4),B(4, -3) Atelo] A7} va 2t & uf, 0 9] g2

B 87



6. T I™elA T A PG, 1), Q-3 -2) m
Afole] Az

______ g)(_5, 1)
O T

- —
I

(-3,-2)

D V5 @5 ® Vi3 @ 5 B 11



I3} Zo] A ¥e] dol7t4, 5, 6 2

O
]

o}

7.

® 3

@ 2+7

@ V5



D 16m @ 17Tm ® 18m

@ 19m 3 20m




